# Division with Partial Quotients Name:

Solve each problem. Answers

1) 2) 3)
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Division with Partial Quotients Name: Answer Key
Solve each problem. Answers
D g| 21 2) 21800 3 6| 172 X 515
16 2 -800 400 -120 20 '
5 0 52 ” 400
-48 8
2 3 2814
4 )
5. 19r1
6. 243
7. 12r3
49 6| 30 5 2|39 6) 2| 486
30 5 .20 10 -400 200 g 17
0 19 86
218 9 .80 40 J or4
1 6
-6 3
0
) 8| 99 8 2| 34 9 6|34
.80 10 .20 10 30 5
19 14 4
-16 2 14 7
3 0
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# Division with Partial Quotients Name:

Solve each problem. Answers

2r5 400 243
28 r4 19r1 5 1.

D gl 21 2 2| 800 Y 6| 172 >

9 6| 30 5 2[39 6 2| 486
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